SOLVING ALGEBRAIC EXPRESSIONS V (S-2) Name:

EXPRESSIONS WITH PARENTHESES I1
Time:

Score:

97) Simplify algebraic expression
(2—54+3y—(—1y)) =9+ bz) =

Solve forx =0,y =5

a)
b) Solve for x =0,y =2

¢) Solveforx=1,y=3

98) Simplify algebraic expression

(Oy x 2y) =+ (=9y) x ((Bz = (=3) = (=1y))) =

Solve forx =0,y =9

a)
b) Solve forx =6,y =25

¢) Solveforx=7,y=1

99) Simplify algebraic expression
6y —9y)+9y — ((Tx3+3)) =

a) Solve for y =0
b) Solve for y =1

¢) Solve for y = 2

100) Simplify algebraic expression
(2x x (—=6) x 0x)) = (97) + S8y + 2y) =

a) Solveforz =2, y=1

b) Solve forz =5,y =0

c) Solve forx =6,y =1

Mathematics: Substitutions - Level 6 - Substitutions - Set 2 26


https://www.workulum.com

